Osadnik - odprowadzenie nr 2
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( Srednica | Srednica |Objetnosé czynna|Wysoko$¢ wlotu | Wymiar Cigzar Cigzar kregow nadbudowy )
Dw Dz Vinin Hmin *) Amin **) h=025m | h=050m | h=1,00m
[mm] [mm] [m3] [mm] [mm] [kgl [kgl [kg] tkg]
1.0 1050 1000 3910
1200 1500 1,5 1500 1050 4590 340 680 1370
2,0 1940 1110 5270
2,0 1300 1050 5870
1500 1800 25 1590 1010 6340 470 940 1880
3,0 1870 980 6810
3,0 1130 1220 8400
2000 2300 5,0 1770 1080 9630 1230 2450
7.5 2560 1290 12080
50 1190 1180 10230
2500 2750 7.5 1700 1170 11420 = 1190 -
12,5 2720 1150 13800
12,5 1940 1460 19170
3000 3300 15 2300 1600 20960 1790 -
20 3000 1400 22750 o
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